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QUESTION 1

When do modifications to the Event Policy take effect?

A. As soon as the Policy Tab window is closed.

B. When saved on the SmartEvent Server and installed to the Correlation Units.
C. When saved on the Correlation Units, and pushed as a policy.

D. When saved on the SmartEvent Client, and installed on the SmartEvent Server.

Correct Answer: B

QUESTION 2

Which statement is NOT TRUE about Delta synchronization?

A. Using UDP Multicast or Broadcast on port 8161

B. Using UDP Multicast or Broadcast on port 8116

C. Quicker than Full Sync

D. Transfers changes in the Kernel labels between cluster members

Correct Answer: A

QUESTION 3

What is the limitation of employing Sticky Decision Function?

A. With SDF enabled, the involved VPN Gateways only supports IKEv1

B. Acceleration technologies, such as SecureXL and CoreXL are disabled when activating SDF
C. With SDF enabled, only ClusterXL in legacy mode is supported

D. With SDF enabled, you can only have three Sync interfaces at most

Correct Answer: B

Reference: https://scl.checkpoint.com/documents/R76/CP_R76_ClusterXL_AdminGuide/7290.htm

QUESTION 4
What is the protocol and port used for Health Check and State Synchronization in ClusterXL?

A. CCP and 18190
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B. CCP and 257

C. CCP and 8116

D. CPC and 8116

Correct Answer: C
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Reference: https://scl.checkpoint.com/documents/R76/CP_R76_ClusterXL_AdminGuide/index.html

QUESTION 5

Check Point Management (cpm) is the main management process in that it provides the architecture for a consolidated
management console. CPM allows the GUI client and management server to communicate via web service using

A. TCP port 19009
B. TCP Port 18190
C. TCP Port 18191
D. TCP Port 18209

Correct Answer: B
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